Goal - Use the value of the discriminant.
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Your Notes Use the discriminant
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Find the number of solutions

Tell whether the equation f—_—_2x2 + 4x = 2lhas two

solutions, one solution, or no solution.
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o Checkpoint Tell whether the equation has two
solutions, one solution, or no solution. STATE THE DISCRIMINANT.
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Eind the number of x-intercepts

). .r Notes ’ Example 3

Find.the number of x-intercepts ':of the graph of
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The discriminant is ;Posi-n'd ¢ , so the equation

has & Seo Luﬁo\}g . This means that the graph
ofy = —x? + 3x + 4 has )  xintercepts.

CHECK 'You can use a graphing
- calculator to check the answer.
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Checkpoint: Find the discriminant and then determine the number of x-intercepts.

5) y=-x+3x-3 6) f(x)=x"-4x+4

Do=-xt+3x -
s - = C:_3
A=l B= 3 N 4

‘ Y
D ’:o’é(ﬁ:}(qb D )(,,—‘“l(l)("5 =Y
b =3)

(No X inTECCEPS ) (1



RV ewd
GRAOPWING

= M DESRIBE TWE Sunte: of A5 Dooss] S
be ceuse A =-l P(y,‘:;’(”ﬁ
-~ . _— .‘ / )
A WHATIS ThE Y INTEACRPT 2 Btfune y )
EXAm_?LEB CCEMT) (0,4) bececuse (=4 ‘Vf i
Y: -XZ—I-BX +4 l——j— % vawar Vs TTWE AXTS oF Sy MM gvey ) R e [ \
i B RV N N T T ¥+
p=-1 o [ 7 4zt A’ / I
n=> | | %-lumer IS __THE VERT Ex 2 (1-5'?._(.25) r‘ ]
C=“ V IS (.25 Y--(l ﬂ+3 (1. S)H [y E—;;OM_ |
'Q_._Q. ¥ CLEMY PLOT I PoiwTs \l/
3 |4 TP caeare aTABLE
4 o |
T % _WWAT ARE Twe X-iNTERCEPTS] .
(‘l 03 (‘hO) SolufdNs peé )( i

ceveeeseenese. . REVIEW: NOW GRAPH EACH FUNCTION

©

F) =>4 +4

-

“J

Describe shape: OPga/s Downt (g =-1)
Y-intercept: (0, -3 C=-3)

A.S. x—;@._,_;(' PR

v:(l.s=75 % . _(l S>21_3 IS
= '?5\
X-intercept(s) NoN &

Solution(s) Mo SoLoTen)

Vv
| 1Sy 1

0 |
Yy I-51 - ls¥ 4 T-3

? Describe shape: O Perds U

{/@Vf

e

? Y-intercept: [0, q) (C 4
? AS._x=-% ly =)

2A ZCD

3| ? V’Q-,LQ)- ra:,; Z_ql2) 44

?  X-intercep
?  Solution(s)

t(s: ; Qfo )

(A=)

—

X
b

0
4




